Efficiency vs hit

1.2

efficiency vs hits

Ratio

1

) 30 30 40506070 80
TP hits

—s=— DQM_CKF-test_1000evt

—— DQM_mkFitREFit-test_1000evt
—— DQM_mKFitREFit-OR-fest_1000evt
— —— DQM_mKFitREFit-ORK-test_1000evt
| Efficiend —— DQM_mkFitREFit-OR4-test “1000evt

5 10 15 20 25
TP layers

Efficiency vs pixel layer

© o o
© o o ©

° o
o o

fficiency vs pixel layers

TP pixel layers

Efficiency vs 3D layer

0.5

o

o

efficiency vs 3D layers
o

Ratio

2 4 6 8 10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


